Solving the elastic problem
in Finite Elements
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Non divergence of stresses:

Stress-strain relation:
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Non divergence of stresses:

Stress-strain relation:

Strain-displacement relation:
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(14+v)(1—2v)

(u is not a velocity!)
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In matrix form:
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In matrix form:
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In matrix form:
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In matrix form:
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In matrix form:
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In matrix form:
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Displacement vector
in weak form:
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Displacement vector
in weak form:
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Displacement vector
in weak form:
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Displacement vector
in weak form:
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Displacement vector

in weak form:
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Global node and element numbering
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